
 

 
eey70−3n

eey70−1a

adaptation
O&M: 595
ts=0.0

logOo = −0,35[uλ−u595]2

logMo= −0,35[uλ−u545]2

logOa= logOo−0,09
logMa= logMo+0,26

uλ=(λ−550)/50

log[sensitivity]
logLo = −0,35[uλ−u570]2

logVo = −0,35[uλ−u557]2

log [Lo, Oa, Ma]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

−2

−1

  0
Oa

595

La

570

Ma

545

Oo
Lo
Mo

Oa
La
Ma

595:
=0,00
=−0,09
=−0,35

=−0,19
=−0,19
=−0,19

Oo
Lo
Mo

Oa
La
Ma

595:
=0,00
=−0,09
=−0,35

=−0,19
=−0,19
=−0,19

Oo
Lo
Mo

Oa
La
Ma

595:
=0,00
=−0,09
=−0,35

=−0,19
=−0,19
=−0,19

eey70−2a

saturation V
adaptation
O&M: 595
ts=0.0

logOo = −0,35[uλ−u595]2

logMo= −0,35[uλ−u545]2

logOa= logOo−0,09
logMa= logMo+0,26

log[saturation]
logLo = −0,35[uλ−u570]2

logVo = −0,35[uλ−u557]2

log [Lo/Vo, Oa/Vo, Ma/Vo]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

 −1

   

   0

  

   1
Oa

595

La

570

Ma

545

eey70−3a

adaptation
O&M: 570
ts=0.0

logOo = −0,35[uλ−u595]2

logMo= −0,35[uλ−u545]2

logOa= logOo+0,09
logMa= logMo+0,09

uλ=(λ−550)/50

log[sensitivity]
logLo = −0,35[uλ−u570]2

logVo = −0,35[uλ−u557]2

log [Lo, Oa, Ma]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

−2

−1

  0
Oa

595

La

570

Ma

545

Oo
Lo
Mo

Oa
La
Ma

570:
=−0,09
=0,00
=−0,09

=−0,02
=−0,02
=−0,02

Oo
Lo
Mo

Oa
La
Ma

570:
=−0,09
=0,00
=−0,09

=−0,02
=−0,02
=−0,02

Oo
Lo
Mo

Oa
La
Ma

570:
=−0,09
=0,00
=−0,09

=−0,02
=−0,02
=−0,02

eey70−4a

saturation V
adaptation
O&M: 570
ts=0.0

logOo = −0,35[uλ−u595]2

logMo= −0,35[uλ−u545]2

logOa= logOo+0,09
logMa= logMo+0,09

log[saturation]
logLo = −0,35[uλ−u570]2

logVo = −0,35[uλ−u557]2

log [Lo/Vo, Oa/Vo, Ma/Vo]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

 −1

   

   0

  

   1
Oa

595

La

570

Ma

545

 

  

 
eey70−7n

eey70−5a

adaptation
O&M: 545
ts=0.0

logOo = −0,35[uλ−u595]2

logMo= −0,35[uλ−u545]2

logOa= logOo+0,26
logMa= logMo−0,09

uλ=(λ−550)/50

log[sensitivity]
logLo = −0,35[uλ−u570]2

logVo = −0,35[uλ−u557]2

log [Lo, Oa, Ma]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

−2

−1

  0
Oa

595

La

570

Ma

545

Oo
Lo
Mo

Oa
La
Ma

545:
=−0,35
=−0,09
=0,00

=−0,02
=−0,02
=−0,02

Oo
Lo
Mo

Oa
La
Ma

545:
=−0,35
=−0,09
=0,00

=−0,02
=−0,02
=−0,02

Oo
Lo
Mo

Oa
La
Ma

545:
=−0,35
=−0,09
=0,00

=−0,02
=−0,02
=−0,02

eey70−6a

saturation V
adaptation
O&M: 545
ts=0.0

logOo = −0,35[uλ−u595]2

logMo= −0,35[uλ−u545]2

logOa= logOo+0,26
logMa= logMo−0,09

log[saturation]
logLo = −0,35[uλ−u570]2

logVo = −0,35[uλ−u557]2

log [Lo/Vo, Oa/Vo, Ma/Vo]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

 −1

   

   0

  

   1
Oa

595

La

570

Ma

545

eey70−7a

adaptation
O&M: 520
ts=0.0

logOo = −0,35[uλ−u595]2

logMo= −0,35[uλ−u545]2

logOa= logOo+0,44
logMa= logMo−0,26

uλ=(λ−550)/50

log[sensitivity]
logLo = −0,35[uλ−u570]2

logVo = −0,35[uλ−u557]2

log [Lo, Oa, Ma]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

−2

−1

  0
Oa

595

Ma

545

Ga

520

Oo
Lo
Mo

Oa
La
Ma

520:
=−0,79
=−0,35
=−0,09

=−0,19
=−0,19
=−0,19

Oo
Lo
Mo

Oa
La
Ma

520:
=−0,79
=−0,35
=−0,09

=−0,19
=−0,19
=−0,19

Oo
Lo
Mo

Oa
La
Ma

520:
=−0,79
=−0,35
=−0,09

=−0,19
=−0,19
=−0,19

eey70−8a

saturation V
adaptation
O&M: 520
ts=0.0

logOo = −0,35[uλ−u595]2

logMo= −0,35[uλ−u545]2

logOa= logOo+0,44
logMa= logMo−0,26

log[saturation]
logLo = −0,35[uλ−u570]2

logVo = −0,35[uλ−u557]2

log [Lo/Vo, Oa/Vo, Ma/Vo]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

 −1

   

   0

  

   1
Oa

595

Ma

545

Ga

520

 

 

  

 
eey71−3n

eey71−1a

adaptation
O&M: 595
ts=0.04

logOo = −0,35[uλ−u595]2

logMo= −0,35[uλ−u545]2

logOa= logOo−0,09
logMa= logMo+0,26

uλ=(λ−550)/50

log[sensitivity]
logLo = −0,35[uλ−u570]2

logVo = −0,35[uλ−u557]2

log [Lo, Oa, Ma]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

−2

−1

  0
Oa

595

La

570

Ma

545

Oo
Lo
Mo

Oa
La
Ma

595:
=0,00
=−0,09
=−0,35

=−0,19
=−0,19
=−0,19

Oo
Lo
Mo

Oa
La
Ma

595:
=0,00
=−0,09
=−0,35

=−0,19
=−0,19
=−0,19

Oo
Lo
Mo

Oa
La
Ma

595:
=0,00
=−0,09
=−0,35

=−0,19
=−0,19
=−0,19

eey71−2a

saturation V
adaptation
O&M: 595
ts=0.04

logOo = −0,35[uλ−u595]2

logMo= −0,35[uλ−u545]2

logOa= logOo−0,09
logMa= logMo+0,26

log[saturation]
logLo = −0,35[uλ−u570]2

logVo = −0,35[uλ−u557]2

log [Lo/Vo, Oa/Vo, Ma/Vo]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

 −1

   

   0

  

   1
Oa

595

La

570

Ma

545

eey71−3a

adaptation
O&M: 570
ts=0.04

logOo = −0,35[uλ−u595]2

logMo= −0,35[uλ−u545]2

logOa= logOo+0,09
logMa= logMo+0,09

uλ=(λ−550)/50

log[sensitivity]
logLo = −0,35[uλ−u570]2

logVo = −0,35[uλ−u557]2

log [Lo, Oa, Ma]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

−2

−1

  0
Oa

595

La

570

Ma

545

Oo
Lo
Mo

Oa
La
Ma

570:
=−0,09
=0,00
=−0,09

=−0,02
=−0,02
=−0,02

Oo
Lo
Mo

Oa
La
Ma

570:
=−0,09
=0,00
=−0,09

=−0,02
=−0,02
=−0,02

Oo
Lo
Mo

Oa
La
Ma

570:
=−0,09
=0,00
=−0,09

=−0,02
=−0,02
=−0,02

eey71−4a

saturation V
adaptation
O&M: 570
ts=0.04

logOo = −0,35[uλ−u595]2

logMo= −0,35[uλ−u545]2

logOa= logOo+0,09
logMa= logMo+0,09

log[saturation]
logLo = −0,35[uλ−u570]2

logVo = −0,35[uλ−u557]2

log [Lo/Vo, Oa/Vo, Ma/Vo]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

 −1

   

   0

  

   1
Oa

595

La

570

Ma

545

 

  

 
eey71−7n

eey71−5a

adaptation
O&M: 545
ts=0.04

logOo = −0,35[uλ−u595]2

logMo= −0,35[uλ−u545]2

logOa= logOo+0,26
logMa= logMo−0,09

uλ=(λ−550)/50

log[sensitivity]
logLo = −0,35[uλ−u570]2

logVo = −0,35[uλ−u557]2

log [Lo, Oa, Ma]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

−2

−1

  0
Oa

595

La

570

Ma

545

Oo
Lo
Mo

Oa
La
Ma

545:
=−0,35
=−0,09
=0,00

=−0,02
=−0,02
=−0,02

Oo
Lo
Mo

Oa
La
Ma

545:
=−0,35
=−0,09
=0,00

=−0,02
=−0,02
=−0,02

Oo
Lo
Mo

Oa
La
Ma

545:
=−0,35
=−0,09
=0,00

=−0,02
=−0,02
=−0,02

eey71−6a

saturation V
adaptation
O&M: 545
ts=0.04

logOo = −0,35[uλ−u595]2

logMo= −0,35[uλ−u545]2

logOa= logOo+0,26
logMa= logMo−0,09

log[saturation]
logLo = −0,35[uλ−u570]2

logVo = −0,35[uλ−u557]2

log [Lo/Vo, Oa/Vo, Ma/Vo]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

 −1

   

   0

  

   1
Oa

595

La

570

Ma

545

eey71−7a

adaptation
O&M: 520
ts=0.04

logOo = −0,35[uλ−u595]2

logMo= −0,35[uλ−u545]2

logOa= logOo+0,44
logMa= logMo−0,26

uλ=(λ−550)/50

log[sensitivity]
logLo = −0,35[uλ−u570]2

logVo = −0,35[uλ−u557]2

log [Lo, Oa, Ma]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

−2

−1

  0
Oa

595

Ma

545

Ga

520

Oo
Lo
Mo

Oa
La
Ma

520:
=−0,79
=−0,35
=−0,09

=−0,19
=−0,19
=−0,19

Oo
Lo
Mo

Oa
La
Ma

520:
=−0,79
=−0,35
=−0,09

=−0,19
=−0,19
=−0,19

Oo
Lo
Mo

Oa
La
Ma

520:
=−0,79
=−0,35
=−0,09

=−0,19
=−0,19
=−0,19

eey71−8a

saturation V
adaptation
O&M: 520
ts=0.04

logOo = −0,35[uλ−u595]2

logMo= −0,35[uλ−u545]2

logOa= logOo+0,44
logMa= logMo−0,26

log[saturation]
logLo = −0,35[uλ−u570]2

logVo = −0,35[uλ−u557]2

log [Lo/Vo, Oa/Vo, Ma/Vo]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

 −1

   

   0

  

   1
Oa

595

Ma

545

Ga

520

 

 

V

C

L

M

O

Y

Y

O

M

L

C

V

V C

L M

O Y

Y O

M L

C V

-8
-6

-8
-6

-8
-6

-8
-6

TUB-test chart eey7; sensitivity LMO−>L/V & O/V, lin[thresholds]=0 & 0,04
log[sensitivity] and log[ratio], LMS-R21, 4 adaptations: 595,570,545,520
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